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R -EA.L CH A M P S - . Surbhi Sinha 1 hour ago /@\ :

Home work question= Option Aaaa 88888 hrs &f & &f & confirm (5 osm session sir

jﬁ Simran Chauhan 7 hours ago ‘ Atigya Garg 7 hours ago (P‘Q' Nitu Maurya 3 hours ago
Homework answer is option A - 8 hours Homework answer is option A - 8 hours “ %" Hw ans 8 hr ... amazing session sir.
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Niharika Jha 7 hours ago " Anupa Kerketta 7 hours ago Muskan Rai 7 hours ago
‘ Thank you for the test sir = &= a Hw ans 8 hours QP thank u sir for wonderfull session
Homework answer 8 hours Thank you sir amazing session answer = 8 hour

Neha Singh 4 hours ago
Homework ans option 1=8 hours

Priya Bharati 7 hours ago
H. W answer-Option A(8hrs)
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Time taken to travel certain distance of 'X' km at speed of 40 km/h is 2 hours more /@\
than the time taken to travel (x + 20)km at a speed of 60 km/h. Find the time taken
to travel (x + 40)Km at the speed of 40 Km/h ?

A. 8hours
B. 6 hours
C. 7.5 hours
D. 4 hours
E. 5 hours




4

There are 3 pipes A, B and C. In a tank pipe A and B together take same time as taken /@\
by C. If pipe B fills 16 hours faster than pipe A and C fills 9 hour faster than B, find total

time taken by them to filled the tank completely if they work alternatively?

3YTST A, B 31 C 31 Ueh ehl UTSU H A 3T B Ueh HT 3dT &1 THT od @ oTaqr C gry forar
ST 81 AfS UTST B UTST A ST GeT-T H 16 e TSt & 9T € 37 C, B 3T g1 § 9 He awit A
AT &, AT TS I Aeh{edeh &Y H ThTH A § AT ¢oh hl T X8 W 9 § 376k gIRT (o171 14T

el THT [T hitTA?




There are 3 pipes A, B and C. In a tank pipe A and B together take same time as taken /2%\
by C. If pipe B fills 16 hours faster than pipe A and C fills 9 hour faster than B, find total
time taken by them to filled the tank completely if they work alternatively?

A.21h
B.23 h
C.22nh
D.20 h
E.NOT




The ditterence between compound interest and simple interest for 2 years on Rs. (/ :
4,200 is Rs. 34.02. Find the rate of interest per annum? Zg\

4,200 TUY U 2 AT & ToTT Tk (g SATSH TR ATLARUT AT ok st T ¥ 34.02 TGA
21 Ift a9 ST X AT shileTar?

A.10%
B.8%
C.9%
D.11%
E.CND




Directions: Study the following information carefully and answer the given questions. / /
Given below line graph shows total number of students (Girls + Boys) in six different yearsina

college, also shows total number of Boys:

g Freateriaa SITeRrt st sauEe ereaam Shiforar ofit faer o et o S difsren e feam e
T AT Teh ShicTST H B ACTT-3TTT Tut U BTAT (TSTRAT + TTehT) Th Shet TEAT hl 91T &,
TSR ShT ThHeT TTAT T 91T &:
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What is the difference between the total number of Boys and the number of girls /@\
over the years (2010 — 2015)? |
T (2010 - 2015) H TISRT chl HeT AEAT AR AS(RAT ShT HEAT o Sl BT AT FHT 52
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What was the percent decrease of girls in the year 2013 from the previous year?

IS o 6l T § o9 2013 H TS iorat sht Tfara shut = eff?
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A.50%
B.60%
C.40%
D.70%
E.75%



Average number of girls in the given years (2010 to 2015) in college is what percent / -
less than total students in the year 2010? P

ST T 9T (2010 & 2015) W hictST H IS RAT hi ST HEIT W 2010 H THeT STAT bl
T | fehd= TfaeTd oA 22
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60% of total boys in year 2012 and 80% of total girls in year 2015 appeared in exam. If

30% of appeared boys in exam in year 2012 and 40% of appeared girls in exam in 2015

passed the exam, then find the ratio between number of total girls in year 2014 to

number of passed boys in 2012 and passed girls in 2015 together?

TH 2012 H HA TZhT T 60% R T 2015 W el TS [RAT BT 80% THEAT H IUTEAT FaAT|
Ife o 2012 H 7T & Iuferd egeht § @ 30% 31X 2015 § THeT # Iufed g areit
ASTRAT H 8 40% TLET AT g3, O T 2014 H HeT TgTehal hl SEAT AR 2012 H IOl

STSehi shl HEAT 3T 2015 | 3TUT cigfordi sht €EaT o i< S1UTd Td shitetar?
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60% of total boys in year 2012 and 80% of total girls in year 2015 appeared in exam. If
30% of appeared boys in exam in year 2012 and 40% of appeared girls in exam in 2015
passed the exam, then find the ratio between number of total girls in year 2014 to number

of passed boys in 2012 and passed girls in 2015 together?
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Average number of girls in the given years (2010 — 2015) in college is what percent /@\
less than total students in the year 2016, if the ratio between the total students in

year 2016 to the total students in 2011 is 4 : 5?

fRU 7T FHT (2010 - 2015) H HTAST § ASRAT Y T HEAT TN 2016 | Hel BT A

feRa ITa9Ta oW 2, IS I 2016 H et STAT 31 2011 H HeT STAT o Sl T ST 4

: 582

- Total students «®=Boys
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e T C.150/7%
B T <& D.100/7%
E.NOT
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Average number of girls in the given years (2010 — 2015) in college is what percent (/\: )

less than total students in the year 2016, if the ratio between the total students in

year 2016 to the total students in 2011 is 4 : 5?
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A shopkeeper sold rice of 30% good quality at the profit of 40% and rice of 90% ba?i/ i
quality at the profit of 20%, If the quantity of both type of rice (good quality and bad

quality rice) are same. Find the average profit percent of the shopkeeper?
Teh SehTEN 30% 3TBT TUTSITT hT SITeTeT 40% oh T UX 3T 90% Tl TUTSIT sht

ST 20% o ATH U ST &, ATS FHT THR ok AT (BT VST SR S Turar
SITet STSeT) Shi AT AT €1 SehTAER kT A 19 IT9Td AT hiforar?




A shopkeeper sold rice of 30% good quality at the profit of 40% and rice of 90% bas ~
quality at the profit of 20%, If the quantity of both type of rice (good quality and bad
quality rice) are same. Find the average profit percent of the shopkeeper?

A.35
B.20
C.30
D.25
E.18




The pie chart shows the percentage of persons who visited six different

restaurants on a particular day and the table shows the ratio of male and female

who visited six restaurants.

TS =TS 37 ST hAT o TTA9Td kil S9TTaT ¢ I8l Ueh foaoiw fo W 98 S1erT-e1et Wl <At
ST foRaT 3T ATfeTeRT B8 TRt T ST T ATel THN 3R ATSAT o SATUTA Shi 91T &l
Total number of people = 8000

Percentage of person visited

Restaurants Male : Female
A 21:23
B 61:83
C 27:29
D 6:5
E 8:7
F 1:1




What is the ratio between the number of males visited in restaurant B and C togethe(éc/ !
to the number of females visited in restaurant C and F together?

& B 37 C W Ueh AT 3T ATl YHHT Shi HEAT TR W& C 3R F | U 91 3@t 13
HigeTTTl shl TEAT o el ohT AT FIT 32

Restaurants Male : Female
Ax1/4 21:23 AS:6
Bx1/8 61:83 B6:5
Cx1/4 27:29
Dx2 6:5 C.5:7
Ex1 8:7 D.6:7
Fx10 1:1 E.NOT




The number of males who visited restaurant A is what percent of the number of /@\
males who visited restaurant C?

TEA A T GRT I AT YT hl TEAT, Wt C T FRT HIA AT GEHT hi HEAT T

feramT aferera 82

Re:taulr/a:ts Male2:1F2e3maIe A.63.63%
Bx1/8 61:83 B.75%
Cx1/4 27:29 C.77.77%

D x 2 6:5 D.78%
Ex1 2L E.NOT
Fx10 1:1




The number of males visited in restaurant G is 25% more than that of E, the number of
females visited in restaurant G is 7/8th of the number of males visited in restaurant G. Firi;g‘
the number of people visited in restaurant G ?

TRt G § S T geuT h TEAT E R e § 25% 1fien 7, Wawt G ¥ 3t 18 wiiensit iy
HEAT U G W S T YEHT Shi ST T 7/8 T 31 Wi G H 3 7T ST shi €&t 71a

ShiTeTa?

Restaurants Male : Female
Ax1/4 21:23 A.1300
Bx1/8 61:83 B 1700
Cx1/4 27:29
- . C.1500
Ex1 3.7 D.1400
Fx 10 1:1 E.NOT




What is the average number of females visited in restaurant B, D and E together? é@\
Y& B, D 3T E § Ueh AT 37T ATl HIGeATAN chl 31T HEAT 9T 22

Restaurants Male : Female

Ax1/4 21:23 A.830
B x1/8 61:83 B.730
Cx1/4 27:29 C.700
Dx2 6:5 D715
Ex1 8:7 ENOT
Fx10 1:1




What is the difference between the number of males visited in restaurant B and D /@\
together and the number of females visited in restaurant C and E together?

& B 3R D ¥ Tk 6T T ATeT TEHT hl TAEAT R &’ C 3R E H Teh A1 ST T3
HeeATan hl GEAT & el T a7 22

Restaurants Male : Female

Ax1/4 21:23 A 340
Bx1/8 61:83 B 440
Cx1/4 27:29 :
Dx2 6:5 C.400
Ex1 8:7 D.430
Fx 10 1:1 E.NOT




